### **CAYMAN ISLANDS**



Limited Liability Partnership Law, 2017 (Law 13 of 2017)

# LIMITED LIABILITY PARTNERSHIP (FEES) REGULATIONS, 2020

(SL 161 of 2020)

Supplement No. 5 published with Legislation Gazette No. 87 dated 1st December, 2020.

## **PUBLISHING DETAILS**



### **CAYMAN ISLANDS**



Limited Liability Partnership Law, 2017

(Law 13 of 2017)

## LIMITED LIABILITY PARTNERSHIP (FEES) REGULATIONS, 2020

(SL 161 of 2020)

In exercise of the powers conferred by section 50 of the Limited Liability Partnership Law, 2017, the Cabinet makes the following Regulations —

### Citation

**1.** These Regulations may be cited as the Limited Liability Partnership (Fees) Regulations, 2020.

### **Fees**

**2.** The prescribed fee for the item specified in column 2 of the Schedule is the corresponding amount specified for the item in column 4.



## **SCHEDULE**

(regulation 2)

### Fees

Item	Description	Section of Law	Fee (KYD)
1.	Name reservation: 7 days	8(1B)(b)	\$30
2.	Name reservation: 30 days	8(1B)(b)	\$60
3.	Name reservation: 60 days	8(1B)(b)	\$80
4.	Name reservation: 90 days	8(1B)(b)	\$120
5.	Name reservation: 120 days	8(1B)(b)	\$160
6.	Registration fee	18(2)	\$1,000
7.	Change in the information stated in the registration statement	19(1)	\$100
8.	Annual fee	20(1)	\$2,000
9.	Request to strike a limited liability partnership off the register	31(2)	\$25
10.	Conversion fee	33(3)	\$1,000 (same as the registration fee under section 18(2))
11.	Deregistration of an applicant	38(2)(b)	\$6,000



Item	Description	Section of Law	Fee (KYD)
	partnership		(three times the fee under section 20(1))
12.	Registration of a registrant partnership	39(2)(b)	\$1,000 (same as the registration fee under section 18(2))
13.	Provisional registration of a registrant partnership	39(6)(b)	\$1,500
14.	Annual fee for a registrant partnership which is provisionally registered	39(11)(c)	\$1,000
15.	Express fee (with respect to registrations or conversions)	50(2)(c)	\$400
16.	Express fee (other than transactions under Item 11)	50(2)(c)	\$100
17.	Filing of a document	50(2)(c)	\$100
18.	Copying a document	50(2)(c)	\$100
19.	Certification fee	50(2)(c)	\$100
20.	Issuance of a certificate	50(2)(c)	\$100
21.	General search of the register under section 44(2)	50(2)(c)	\$30

Made in Cabinet the 1st day of December, 2020.

Kim Bullings Clerk of the Cabinet

